u'/v".u./fu".ab’:b;‘;

i (5 720! ) RN SOy — P9 M () pod o
VYY amio dobowys anlliag —)
VWWE aio e 50,5 g \YY amio ¥ Jlgw Jo -
®) @IS Juy jzje a5

"Ll” Cal” slaglugply I GS S 9 S aSs puSe (ygingS auwly I (3uiS > ol yaiiio jgy S 9y g2 DUlgu
Ales Jlwl 09 1 PIES PV 9 6 losb 60 "Uluslg” L g

owtiuil ) lg2 ) 1Y — 1P o = )P/ 1+ PP/l = g) | /oE X o/00A =
20/00 | seeeeeeeeeenens b Cowl gl 16/ (&I
0> 0/0 ] cieiinnnnnn Lll—LUJIJ.IIJJFA(L.J

............... Ll plyo/oo0 Ul""V(é

._a“)y:-pyva—o/]]]: ;_:)IoO/OV+(P’(b/9XI‘)=

WWW.TEHRANMATH.IR
a7 7 AT Y WWTEHRANMATHCOM 8795 Ul —2l> Lle 3020 s1al- 6B 3bo gs aSUS i T

FEAZTATE b 1kEASSAS P nSol, UM waE Sludly sil—pgs adub —yugsé alao sl ylalb



